Device ‘ Value ‘ Qty ‘ Identifier(s)
10BQO060 - 2 | D2, D4
INA148 - 2 | D1, D3
2N4401 - 1 T1
2N4403 - 1 T2
74HC125D - 1 U6
CAP-8x5mm 1u-PE 1 | C25
CAPPO-10mm | 1000u-16V | 11 | C2, C5, C11, C14, C21, C24, C29, C31, C32,
C35, C36
CC0805 470p 4 | C1, C8, C10, C17
CC0805 2700p 6 | C3, Co, C9, C12, C15, C18
CC0805 10n 4 | C20, C39, C46, C47
CC0805 OPEN 4 | C41, C42, C43, C44
CC1206 10n 1 | C23
CC1206 0.1u 1 C40
CC1206 Oul 1 C45
CC1206 100n 14 | C4, C7, C13, C16, C19, C22, C26, C27, C28,
C30, C33, C34, C37, C38
CC1206 1u 2 C48, C49
CSH381-KSZ - 1 U1
FDV301N - 1 | T3
HEADRT40 - 1 J7
LT1763CS8-5 - 1 | U4
NE5532AD - 3 | U2, U3, Ub
PIN - 6 | J1,J2,J3, J4, J5, J6
RC0805 OR 2 | R25, R40
RC0805 33R 2 | R37, R41
RC0805 82R 4 | R33, R34, R35, R36
RC0805 91R 4 | R5, R11, R17, R23
RC0805 649R 8 | R2, R6, R8, R12, R14, R18, R20, R24
RC0805 1k30 8 | R1, R3, R7, R9, R13, R15, R19, R21
RC0805 OPEN 6 | R4, R10, R16, R22, R26, R39
RC1206 10R 2 | R29, R31
RES-1/4W-.3in 10R 2 | R28, R32
RES-1/4W-.3in 1k 2 | R27, R30




Device 10BQO060.
Total number of components: 2

Components on bottom side: D2, D4 (2 total).
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Device 1N4148.
Total number of components: 2
Components on top side: D1, D3 (2 total).
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Device 2N4401.
Total number of components: 1
Components on top side: T1 (1 total).
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Device 2N4403.
Total number of components: 1
Components on top side: T2 (1 total).
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Device 74HC125D.
Total number of components: 1
Components on top side: U6 (1 total).
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Device CAP-8x5mm; value 1u-PE.
Total number of components: 1
Components on top side: C25 (1 total).
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Device CAPPO-10mm; value 1000u-16V.
Total number of components: 11

Components on top side: C2, C5, C11, C14, C21, C24, C29, C31, C32, C35, C36 (11 total).
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Device CC0805; value 470p.
Total number of components: 4
Components on bottom side: C1, C8, C10, C17 (4 total).
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Device CC0805; value 2700p.
Total number of components: 6
Components on bottom side: C3, C6, C9, C12, C15, C18 (6 total).
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Device CC0805; value 10n.

Total number of components: 4

Components on top side: C39 (1 total).

Components on bottom side: C20, C46, C47 (3 total).
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Device CC0805; value OPEN.
Total number of components: 4
Components on bottom side: C41, C42, C43, C44 (4 total).
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Device CC1206; value 10n.

Total number of components: 1
Components on bottom side: C23 (1 total).
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Device CC1206; value 0.1u.
Total number of components: 1
Components on top side: C40 (1 total).
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Device CC1206; value Oul.

Total number of components: 1
Components on bottom side: C45 (1 total).
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Device CC1206; value 100n.

Total number of components: 14
Components on bottom side: C4, C7, C13, C16, C19, C22, C26, C27, C28, C30, C33, C34,

C37, C38 (14 total).
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Device CC1206; value 1u.

Total number of components: 2
Components on top side: C48, C49 (2 total).
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Device CS5381-KSZ.
Total number of components: 1
Components on bottom side: Ul (1 total).
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Device FDV301N.
Total number of components: 1
Components on bottom side: T3 (1 total).
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Device HEADRT40.
Total number of components: 1
Components on top side: J7 (1 total).
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Device LT1763CS8-5.
Total number of components: 1
Components on bottom side: U4 (1 total).
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Device NE5532AD.
Total number of components: 3

Components on bottom side: U2, U3, U5 (3 total).

O O

c2s - €49 C39

R23 R24

D4 E Ul
[; R39
RalI:I caa
EL) [
O t37 o R6 R2 R3
[

22

Qc N
)
cas I-?:‘I R19
i R21
c1e
€38 c2¢ R16] I:Ims
1 K a

—

L



Device PIN.
Total number of components: 6
Components on top side: J1, J2, J3, J4, J5, J6 (6 total).
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Device RC0805; value OR.

Total number of components: 2
Components on bottom side: R25, R40 (2 total).
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Device RC0805; value 33R.

Total number of components: 2
Components on bottom side: R37, R41 (2 total).
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Device RC0805; value 82R.
Total number of components: 4
Components on bottom side: R33, R34, R35, R36 (4 total).
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Device RC0805; value 91R.
Total number of components: 4
Components on bottom side: R5, R11, R17, R23 (4 total).
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Device RC0805; value 649R.
Total number of components: 8
Components on bottom side: R2, R6, R8, R12, R14, R18, R20, R24 (8 total).
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Device RC0805; value 1k30.
Total number of components: 8
Components on bottom side: R1, R3, R7, R9, R13, R15, R19, R21 (8 total).
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Device RC0805; value OPEN.
Total number of components: 6
Components on bottom side: R4, R10, R16, R22, R26, R39 (6 total).
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Device RC1206; value 10R.
Total number of components: 2

Components on bottom side: R29, R31 (2 total).
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Device RES-1/4W-.3in; value 10R.
Total number of components: 2
Components on top side: R28, R32 (2 total).
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Device RES-1/4W-.3in; value 1k.
Total number of components: 2
Components on top side: R27, R30 (2 total).
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